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I Background of o’k to designate pmin '5ya to the altar - kn»7a (analyzing v. 1) - application
a  cannot be: NO'X to slaughter n”ya for nam — already covered below (v. 2)
b rather: must refer to MOR to be Pmn Hya wrTPN
i conclusion: someone who is NarY n”ya v»*1pn violates 5 Nnw:
1 wviolations: Ww*pn RY (v. 1); yonwn &Y, (D7) 1IN RY, 1Popn RY (all of it); y1Popn RY (any of it) —supported below
(@) /i 92 0p 77 also 01N NYap (26 violations)
ii  Sources: v.2—1211pn RY (NVNWY); NNN 8RS VR (burning all); onn (burning any); namn Yy (17771)
1  Then:'n% — extends to include (in ban on D *Yya) nonwnn YV,
(a) Challenge: “’n%” is usually used to narrow scope, not to extend
(i) Per:limitation of yin »01nw to nar "7 (excluding nonwnn VYWY 7°R19) from 'nY (v. 3, in spite of v. 4)
(b) Answer (§37): both contextual:
(i) In that case: "R nna YR extends = 'Y narrows scope
(if) In our case: NWR is exclusive = 'n% broadens scope
(c) Challenge: without 'n%, we still wouldn’t allow n”ya as nYnwnn 1w
(i) Reason: the 91 doesn’t work unless both animals are fit to be 'n% 9»w (i.e. not n"pa)
(i) Defense (901 77): Rn™1 per Mx¥nN 1IN — even if 'n% PYW BT is in V13 and P"NYw dies, bring another and
match it with 'n% 1yv 2> otherwise we would allow that match to be n"pa
1. Challenge: »1¥nn 110 just states that 'n% 9»w isn’t nnT1 — perhaps still needs n53n
2. Rather (9o 9): follows w™ — if one dies, bring a replacement without n%1n
(iif) Answer(n27): case where n"nyw became n”ya that day and he replaced it
1. Argument: since we know that this one wouldn’t go to ’n (no n57n), may be n"ya > %"np
2 Source for Ty’ 73 201’7 v. 5 —121pn RY extends to 1"nYap
(@) a7 usev.5 for 7N
(b) Challenge: 7"n71 was inferred from v. 2 (namn o)
(i) Answer: v. 2 is written in the normal style, cannot infer 777t from it
(ii) Challenge: nmn 92 °0v “1 should agree that v. 2 is just written in normal style v. 5 teaches 7”0
(c) Rather: 17 infers 7"n%ap from v. 6
(i) a7 teaches that n”ya applies to m 711 as well; even though they are only commanded re: 9ar 7010
(d) Alternate version: (as per above) — 1311 infers n”ya 11oR on TN’ Nn1 from v. 5
(i) /mi 92 0P ’7: agrees
(if) Rather:»"27 infers from v. 6 etc. as per 1% version
iii ~ Challenge (5”): should only apply if he was w*1pn a R1p’yn nn that became n”y3; but X1p'yn n"va is like a tree
1 Block (9o 32 8711 73): 09 YW (born D'nIn) are mentioned in context of our nwMa (v. 7)
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iv  Rather (5”): perhaps these violations apply to nmnn, which works even on n”pa — but not for w1pn
1 Block (7217 77): quotes 'Ry "1 — if he is n”p1 v 1pn — violates 5 "mMnw”; but if 1N, would be 6
2 Retort: if it is a vip’yn n"pa, why isn’t it like a piece of wood
(a) Answer: a piece of wood isn’t degrading — like narn> oxy; but n”ya is degrading (should’ve given nonn)
(b) (alternatively: there are others yna that are “better” [mnmn] = degrading; unlike n”pa)
(c) ~a7 once we've established that the liability for n”pa is "1, even if he is 02501 )15 W 1PN —liable for man
(i) am73(support for 837): v. 7 disallows n”ya for nam, either as 9m or nam
1. 227 only bans 12w nR¥IA (assumption: 227 only bans 191 NN = 0NN also ban 0V MTY VITP
(d) 1 (v7): WY MR to be W*TPN a DNN to N*an PTI; also N, per v. § (IMRY = NNR RY)
~27. if someone puts 0”1 »aR on narn, he violates “burning all” and “burning some”
i Dissent (7ax): no man for m»531v 18
ii ~ Challenge: from our rulings about getting 5 (/6) man
iii  Answer (»7aN): that’s with multiple people (each gets man)
1 Challenge: if multiple people, should read 121, not 12
2 Rather: »aR is clearly refuted from here
(a) 7an take out nxepn nvpn (due to MHY22w WY problem) and replace it with nTh nYap
(b) Challenge: o1n nYap is only accepted by nmin’ 9201 "
(c) Alternative challenge: since R0 is 7”271, Rw* must be 13173 (no 7""1p included)
(i) Therefore: »anR is refuted QED
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